



St. Louis County, Minnesota

Date of Report: 12/17/2025 4:00:49 PM

**General Details** 

 Parcel ID:
 415-0010-04135

 Document:
 Abstract - 01514075

**Document Date:** 07/08/2025

Legal Description Details

Plat Name: LAKEWOOD

Section Township Range Lot Block

15 51 13

Description: N1/2 of N1/2 of SW1/4 of SW1/4

Taxpayer Details

Taxpayer NameJOHNSON ADAM & ZHU LIand Address:5346 LESTER RIVER RD

DULUTH MN 55804

**Owner Details** 

Owner Name JOHNSON ADAM

Owner Name ZHU LI

Payable 2025 Tax Summary

2025 - Net Tax \$3,355.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$3,384.00

**Current Tax Due (as of 12/16/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,692.00	2025 - 2nd Half Tax	\$1,692.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,692.00	2025 - 2nd Half Tax Paid	\$1,692.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 5346 LESTER RIVER RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: BORGREN, THOMAS

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$104,300	\$210,700	\$315,000	\$0	\$0	-	
Total:		\$104,300	\$210,700	\$315,000	\$0	\$0	2968	





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:00:49 PM

**Land Details** 

Deeded Acres: 10.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

s://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov  Improvement 1 Details (RESIDENCE)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des			
HOUSE	1982	1,386 1,386			AVG Quality / 504 Ft <sup>2</sup>	SE - SPLT ENTR			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	0	0	26	CANTILEVER				
BAS	1	6	16	96	BASEMENT				
BAS	1	16	22	352	SINGLE TUCK UNDER GARAGE WITH FINISHED BASEMENT				
BAS	1	24	38	912	BASEMEI	NT			
CN	1	6	8	48	FOUNDAT	ION			
CW	1	6	18	108	POST ON GR	OUND			
CW	1	12	14	168	PIERS AND FOOTINGS				
DK	1	0	0	257	POST ON GROUND				
DK	1	6	9	54	POST ON GROUND				
Bath Count	Bedroom Co	ount	Room C	ount	Fireplace Count HVAC				
1.75 BATHS	2 BEDROOI	MS	-		0 CENTRAL, GAS				
Improvement 2 Details (ATTACHED)									
mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des			
GARAGE	1992	264	4	264	- ATTACHE				
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	22	264	FOUNDATION				
		Impro	vement 3	Details (BN)					
mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code &				
BARN	1985	28	8	288					
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	24	288	POST ON GROUND				
		Improve	ment 4 De	etails (ST+LT'S	S)				
mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code & I				
TORAGE BUILDING	1985	24	0	240					
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	20	240	POST ON GROUND				
LT	1	8	20	160	POST ON GROUND				
					POST ON GROUND				





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:00:49 PM

				U (0110D)					
		-	rement 5 Deta						
Improvement Type			Main Floor Ft <sup>2</sup> Gross Area I		Basement Finish Style Code & Des				
STORAGE BUILDING 1985			1,128 1,56						
Segment Story			Width Length Ar		Foundation				
BAS	1	12	22	264	FLOATIN				
BAS	1.5	24	36	864	_	NG SLAB			
LT 1 11 21 231 POST ON GROUND									
		•		s (ATT TO #5)					
Improvement Type				ss Area Ft <sup>2</sup>	Basement Finish	Styl	e Code & Desc.		
SAUNA	1985		96 96						
Segmer			_	Length Area		Foundation			
BAS	1	0	0	96	FLOATIN	NG SLAB			
		Improven	nent 7 Details	(10X10 SCH)					
Improvement Type	e Year Built	Main Fl	oor Ft <sup>2</sup> Gro	ss Area Ft ²	Basement Finish	Styl	e Code & Desc.		
SCREEN HOUSE	1985	10	00	100	-		-		
Segmer	nt Stor	y Width	Length	Area	Foundation				
BAS	1	10	10	100	POST ON	GROUND			
		Sales Reported	to the St. Lo	uis County Au	ditor				
Sal	e Date		Purchase Pric	ce	С	RV Number	•		
07	/2025		\$409,000	\$409,000 269768					
		A	ssessment H	istory					
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$104,300	\$207,400	\$311,70	0 \$0	\$0	-		
2024 Payable 2025	Total	\$104,300	\$207,400	\$311,70	0 \$0	\$0	2,932.00		
	201	\$104,300	\$205,700	\$310,00	0 \$0	\$0	-		
2023 Payable 2024	Total	\$104,300	\$205,700	\$310,00	0 \$0	\$0	3,007.00		
	201	\$99,500	\$205,700	\$305,20	0 \$0	\$0	-		
2022 Payable 2023	Total	\$99,500	\$205,700	\$305,20	\$0	\$0	2,954.00		
	201	\$52,700	\$188,400	\$241,10	0 \$0	\$0	-		
2021 Payable 2022	Total	\$52,700	\$188,400	\$241,10	0 \$0	\$0	2,256.00		
,		-	Γax Detail His	story					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessment	s Taxable Lar	Taxable Bu		otal Taxable MV		
2024	\$3,375.00	\$25.00	\$3,400.00	\$101,15	8 \$199,5	\$199,502			
2023	\$3,523.00	\$25.00	\$3,548.00	\$96,314	\$199,1	\$199,114			
2022	\$3,013.00	\$25.00	\$3,038.00	\$49,303	\$176,2	\$176,256			





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:00:49 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.